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5 Code No. 22

( English Version )

Note : i) Write the question numbers legibly in the margin.

ii) Answer for a question should be continuous.

PART - A

Answer the following questions in one sentence each : 10x1=10

1.

10v

What is Globalization ?
Why is India called as the country of youths ?

What is Yellow Revolution ?

Expand SIDBI.

Who is a Bonded labour ?

When wés 'the Air transport nationalized in Iﬂdia ?
State the basic principle of Co-operation.

What is Foreign Exchange Reserve ?

Give the meaning of Fiscal policy.

Who is the present Deputy Chairman of Planning Commission of

India ?
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. PART - B

II. Answer any ten of the following questions in about four sentences each :

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

10x2 =20

State any four differences between economic growth and economic

development.
What is the density of population ? How is it calculated ?
What is soil erosion ? Mention its two causes.

How are the manufacturing industries different from service

industries ?

What is a ‘sick industry’ according to the Reserve Bénk of India ?
Mention any four national labour unions of India.

How did ‘Nagpur plan’ classify Indian roads ?

Write the differences between money market and call money market.
State any four export promotion measures of the dovernment of India.
What is Budget ? Mention its £ype§.

Mention any two functiqns of Karnataka State Plannihg Board.

Mention the Revenue expenditure of the Central Government.
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PART - C

Answer any eight of the following quéstions in about 15 sentences each :
8 x5 =40

23. Write a no'te on economic data.

24. Explain briefly the measures to control the growth of population.
25. Explain the pre-harvest technology adopted in Indian agriculture.
26. Write a note on dry land farming.

27. Explain the strategy for industrial development since 1991.

.28. What are the various social security measures adopted in India ?

29. V\\Ihat are the Women Empowerment Programmes ?
30. Explain the coﬁventional sources of energy.

31. State the major reforms in co}mmunication sector.
32. Write a noté on the composition of India’s imports.
33. Explain the multilateral agreements of WTO.

34. What are the objectives of 10th Five-Year Plan ?

PART - D

Answer any two of the following questions in about 40 sentencés each :
| 2x 10 =20

35. Discuss the characteristics of Indian ec‘c;nomy as a developing

country.

36. Describe the National Programmes of Employment Generation and

Poverty Alleviation in India.
37. Explain the various functions of Reserve Bank of India.

38. Explain the sources of Revenue of Central Government.
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PART - E
V. Answer any two of the following project and assignment related
questions in about 15 sentences each : 2x5=10
39. Write a note on the steps taken for Rainwater Harvesting in your-

locality.
40. Name any ten Public Sector undertakings and their locations.

41. Given below is the data of profits pertaining to an industry. Draw a

Bar diagram to represent the given data.

Year 1995 1996 | 1997 | 1998 1999 | 2000
Profit ( In lakhs ) 40 50 55 50 60 70

FOR BLIND STUDENTS ONLY

Name any ten Railway Zones and mention their headquarters.




